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•    ABCD .

•  BC = BE   B   E  .



• AE 
AE AE 
A E .

• AE . 



• B G .

BG B H H G 
I . 



GI, HI . 

: 

1.     √18cm, √14cm, √20cm     .

a)     ?

b)   20 ?

2.7cm2        .

         :

• 7 x 1 = 7

• 42 – 32 = 7

• √62 + 1 = 7 

• √52 + √22 = 7



3.13 ?

:
a)13 x 1 = 13

b)72 – 62 = 13

c)√122 + 1 = 13 

d)√32 + √22 = 13

4.  3 √8 cm  , 4 √10 cm  , 
 √6 cm   ?

  ?
 ?











 
  



6cm  3cm     .    7cm  
   .

   
ABCD .

BC=BE  AB,  
E  . 

    BF,
CB   F   .



AF, EF    ΔAFE .

AF, EF  
 ,

  G
. 



G  ΔAFE    
BC    S . 
BS   BE  H  

. 

BH   
BF   FT 

.  



 BHTF  

    
 BS x BF = AB x BE .



*
     ...

6cm  4cm   
 . 8 

cm     .

6cm   3cm    
 .   
   7cm  
. 

6.5cm   4cm    
 .   
   8cm  
. 

6cm 

4cm   











PA PB PC PD AB CD

6 8 10

3 2 11

4 10 9

9 3 15



     ?  





x, y .



i)     CAD = ………..

ii)   ACB = ………..

iii)  ACP = ………..

iv)  APC = ………..
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In figure, C = 100o, DAB = 80o  

and B = 60o . Then, 

i)  DAB + C =            ?

ii) ADC + B =            ?

iii) ADC =           ?

      
 

From figure

AEC > ADC 

AEC + B =             ?

AEC + B >             ?

AFC < ADC 

AFC + B =             ?

AFC + B <             ?

If all the four vertices of a quadrilateral are on a circle, then the sum

of angles at its opposite vertices will always be 180o. 

If one vertex of a quadrilateral is out side the circle drawn through 

the other three vertices, then the sum of the angle at this vertex and 

the opposite vertex is less than 180o.

If it is inside the circle, then the sum is more than 180o.
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Watch and learn.....

For widened thoughts.....

1)  In a quadrilateral ABCD,  AB and CD are parallel and, A + C = 

190o.  

a) If a circle is drawn through A, B and D,

check whether the point C is on, outside or

inside the circle. 

b) If AD = BC, can you draw a circle passing

through A, B, C and D? 

c) Find an appropriate name for that quadrilateral.

2) ABCD is a cyclic quadrilateral.

If A + D = 200o and D + C = 240o,

then

a) Find the measure of A + C.

b) What is the measure of D?

c) What are the measures of A and C?
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3) Examine whether the two quadrilaterals

obtained by joining the vertices F and C of a

regular hexagon ABCDEF are cyclic or not?

Why?

4)  In figure, A,B, C, D and E are points on a circle

with centre O. If EAB = 120o  and EPD = 100o 

then find  EDB, ECB and DBC.

5)  In figure, B, C, D and F are points on the cirlce.
Can you prove that ABC + EDF = 180o ?

 Are all regular 

      polygons 
        cyclic?
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6)  In figure, AD is the diameter.

If AB = BC = CD and DEF =110o then 

a) AEF = _______

b) BAF = _______

c) BCD = _______

7)  In figure, ABC is an equilateral triangle and

ADEFG is a regular pentagon. Can you find the

central angle of arc BD? 

Watch, try and learn.....









GOPAL AND HIS COWS









∠∠ A O B = ____ “

“ ∠ BO C  = _____”

“ ∠ A O C  = _____”

:-

∴



∠∠ A  = ____ ∠ BO C  / 2,

∠ B = ____

               3) ∠ C  = ____ 



∠BAO = 30o, ∠BCO = 40o

1)∠ABC = ________
2)∠AOC =________

∠

∠ D PB                       180o

∠ D Q B                       60
o

∠ D O B                       45
o

∠ A O C                        90
o

                                   135
o



△

45o,  45o, 90o 

∠ ∠

∠

∠

∠

17  , 27  



∠ACB=50o , ∠BDC=30o, ∠CBD=70o 














































































